Algebral This is a sample of Cali

Released Test Questions

1 | Isthe equation 3(2x —4)= —18 equivalent to
6x—12=—18?

A Yes, the equations are equivalent by the
Associative Property of Multiplication.

B Yes, the equations are equivalent by the
Commutative Property of Multiplication.

C  Yes, the equations are equivalent by the
Distributive Property of Multiplication over
Addition.

D No. the equations are not equivalent.
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2 | Which statement is false?

A The order in which two whole numbers are
subtracted does not affect the difference.

B The order in which two whole numbers are
added does not affect the sum.

C  The order in which two rational numbers are
added does not affect the sum.

D The order in which two rational numbers are
multiplied does not affect the product.
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3 V16 + 38 =

A 4

B o

C 9

D 10
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4 | Which expression is equivalent to x%x2?
A xty
B XX
C xx
D X%
CSANIET
5 | Which number does not have a reciprocal?
A -1
B 0
1
cC —
1000
D 3
CSAlDIS2
6 | What is the multiplicative inverse of ;?
A -2
1
B —=
2
1
Cc -
2
D 2
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